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f(x) (a, b) a b f(x)

f(x) f1(x) f2(x) · · · fm−1(x) C = fm(x)

f1(x) f(x) f ′(x) f1(x) f(x)

f2(x) f2(x) f1(x)

f3(x)

fm(x) = C x = a x = b

f(a) f1(a) f2(a) · · · fm−1(a) C (1)

f(b) f1(b) f2(b) · · · fm−1(b) C (2)

1 A 2 B A − B

f(x) = 0 (a, b)

f(x) ϕ(x) f(x) f ′(x) ϕ(x)

1865

1865 6 28

498 513

f(x) = 0

f(x) = a0x
n+na1x

n−1+
1

2
n(n−1)a2x

n−2+ · · ·+nan−1x+an

a0 a1 · · · an f(x) A0 = a20



A1 = a21− a0a2 A2 = a22− a1a3 · · · An−1 = a2n−1− an−2an

An = a2n A0 A1 A2 · · · An f(x)

ar ar+1 Ar Ar+1

ar

Ar

}

arar+1

ArAr+1

}

pP vV pV vP

p v

P V

∑

pP
∑

vP
∑

pP +
∑

vP

n−(
∑

pP+
∑

vP )

f(x) f(x + λ)
∑

pP (λ)

pP (λ) λ pP (u)

µ pP (0)
∑

pP

µ > λ

pP (u)− pP (λ) = (u, λ) + 2k (µ, λ) λ µ

k

x1 x2 · · · xn a0x
n+a1x

n−1+ · · ·+

an−1x+ an = 0

D = a2n−20

∏

1≤i<j≤n

(xi − xj)
2
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D = (−1)
n(n−1)

2 · 1
a0
·

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0 a1 a2 · · · an−1 an 0 · · · 0
0 a0 a1 a2 · · · an−1 an · · · 0
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 · · · · · · · · · · · · · · · · · · · · · an

na0 (n− 1)a1 · · · · · · an−1 0 0 · · · 0
0 na0 (n− 1)a1 · · · · · · an−1 0 · · · 0
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 · · · · · · · · · · · · · · · · · · · · · an−1

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0x
2 + a1x+ a2 = 0

D = (−1)
2(2−1)

2 ·
1
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∣

∣

∣

∣

∣

∣

∣

a0 a1 a2

2a0 a1 0

0 2a0 a1

∣

∣

∣

∣

∣

∣

∣

= a21 − 4a0a2

n

m x

f(x) = a0x
n + a1x

n−1 + · · ·+ an = 0 (a0 6= 0)

ϕ(x) = b0x
m + b1x

m−1 + · · ·+ bm = 0 (b0 6= 0)

x m+ n
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∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0 a1 · · · · · · an 0 · · · 0

0 a0 a1 · · · an−1 an · · · 0

· · · · · · · · · · · · · · · · · · · · · · · ·

0 · · · · · · · · · · · · · · · · · · an

b0 b1 · · · · · · bm 0 · · · 0

· · · · · · · · · · · · · · · · · · · · · · · ·

0 · · · · · · · · · · · · · · · · · · bm

∣

∣

∣

∣
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∣

∣

∣

∣
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n x1 x2 · · · xn

m f(x1, x2, · · · , xn)

f(x1, x2, · · · , xn) = a11x
2
1 + 2a12x1x2 + · · ·+ 2a1nx1xn

+a22x
2
2 + 2a23x2x3 + · · ·+ 2a2nx2xn

+ · · ·+ annx
2
n

T

f(x1, x2, · · · , xn) F (y1, y2, · · · , yn) f

a0 a1 · · · as F a′0 a′1 · · · a′s

I

I(a′0, a
′
1, · · · , a

′
s) = rωI(a0, a1, · · · , as)

I f ω = 0 f

x y

f = ax2 + 2bxy + cy2

T

F = a′x′2 + 2b′x′y′ + c′y′2

D =

∣

∣

∣

∣

∣

a b

b c

∣

∣

∣

∣

∣

= ac− b2



D = ac− b2 = a′c′ − b′
2
= D′

D = ac − b2 f

P

f = a0x
P + a1x

P−1y + · · ·+ aPy
P

I

ΩI = 0 OI = 0

Ω O

Ω ≡ a0
∂

∂a1
+ 2a1

∂

∂a2
+ · · ·+ PaP−1

∂

∂aP

O ≡ Pa1
∂

∂a0
+ (P − 1)a2

∂

∂a1
+ · · ·+ aP

∂

∂aP−1

r

y21 + y22 + · · ·+ y2P − y2P+1 − · · · − y2r

P

2n− 1 n 2n− 1



2n

2n− 1

n
∑

i=1

∑n

j=1 aijxixj n

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12 · · · a1k

a21 a22 · · · a2k

· · · · · · · · · · · ·

ak1 ak2 · · · akk

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

k = 1 2 · · · n

1851

A+ λB

A = ax2 + by2 + cz2 + 2dyz + 2ezx+ 2fxy

B = a′x2 + b′y2 + c′y2 + c′z2 + 2d′yz + 2e′zx+ 2f ′xy



|A+ λB| =

∣

∣

∣

∣

∣

∣

∣

a+ λa′ f + λf ′ e+ λe′

f + λf ′ b+ λb′ d+ λd′

e+ λe′ d+ λd′ c+ λc′

∣

∣

∣

∣

∣

∣

∣

A + λB λ

|A + λB|

λ + ε A B

i (λ + ε)α (i + h)

(λ + ε)(h+1)α i i Di(λ)

|A + λB| A

i Di(λ) Di−1(λ) |A + λB|

1878

λ

A B P n A

r1 B r2 AB R R ≤ r1 R ≤ r2

R ≥ r1 + r2 − n



1801

9(5 + 3 + 1)

(3 + 2 + 2 + 1 + 1)

θ
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